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BEREAI : BHENRBRATYEPH) REREME 1 106/03/14 1RERE : BRERWD
HIREGD : 2 B2 BERIEIE(abs)
wx | memn | SEDE T PR B LIFRRCBRR
BRK IRK FRK IRK

1 FBsRHERRR- i 2 4

2 | BsEHEER- =3 2 3

3 | BSEHEEER- /N 4 0

4 | BSEHEEER- & 5 12

5 | RsBHEERR- PR 2 7

6 | BsBHEER- INIREE 3 1

T | EsBHEEER- B3 1 7

8 | BsBHEER- EE 3 4

9 | BsBHEER- SIRESE 3 1

10 | BsRHEEEX- A fifggs 3 0

11| BsBHEERR- I 7 3

12 | BSBHEEER- KE 0 0

13 | BSBHEEER- PNSES 1 1

14 | BsRHEEEX- i 0 3

B EE B ER-

st - 1 ~RABERER TOMEE, & TSEPRE |, MARRISITRE
2 ~ IR (%) = (HIRARE - REEARKE) + HRERKE X 100
3 v AChEMMRIRAIERERRIZL
(1)0—-34%(=34.5)F&F 618
(2)35—-44% (=44.5) DS BRKESIHEHRIEINS - WHRRETREEHNE -
(3) 45% (>4 4.5) DEE : FIRZUHE - UERFHBHREEMNIGE - iSRRXEESNEEEER

i)
{LEARER - WKEREEERANEEERARE -
4~ RERGAER : BERE (1) s BIERE (+) ; BRATE 1 B+RAKR5 0% 2@+3RAK100%
5 BRI ERHRIEFEIEES - ERERKR—ERSRE - MNFESHK
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BEREAI : BHENRBRATYEPH) BEREME 1 106/03/15 1RERE : BRERUD
HIREGD : 2 B2 BERIEIE(abs)
wx | memn | SEDE T PR B LIFRRCBRR
BRK IRK FRK IRK

1 FBsRHERRR- AN=V/IN 0 1

2 | [BSRHEEER- HHEEE 1 6

3 | BSEHEEER- /N 2 2

4 | BsBHEEER- R 6 2

5 | RsBHEERR- 2SN 1 2

6 | BsBHEER- PNz 3 5

7| BSEHEERR- | AiMAYE 1 1

8 | BsBHEER- Frg 1 3

9 | BsBHEER- EEE 2 1

10 | BsEHEEER- L1 2 2

11 | BsBHEEER- S 5 1

12 | BSBHEEER- A 0 6

13 | BsRHEEEX- R 2 1

14 | BSBHEEER- PNSES 3 0

B EE B ER-

st - 1 ~RABERER TOMEE, & TSEPRE |, MARRISITRE
2 ~ IR (%) = (HIRARE - REEARKE) + HRERKE X 100
3 v AChEMMRIRAIERERRIZL
(1)0—-34%(=34.5)F&F 618
(2)35—-44% (=44.5) DS BRKESIHEHRIEINS - WHRRETREEHNE -
(3) 45% (>4 4.5) DEE : FIRZUHE - UERFHBHREEMNIGE - iSRRXEESNEEEER

i)
{LEARER - WKEREEERANEEERARE -
4~ RERGAER : BERE (1) s BIERE (+) ; BRATE 1 B+RAKR5 0% 2@+3RAK100%
5 BRI ERHRIEFEIEES - ERERKR—ERSRE - MNFESHK
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BEREAI : BHENRBRATYEPH) BERENE 1 106/03/16 1RERE : BRERUD
HIREGD : 2 B2 BERIEIE(abs)
wx | memn | SEDE T PR B LIFRRCBRR
BRK IRK FRK IRK

1 | BSEHEEER- G 4 1

2 | BSEHEEER- T&¥ 6 2

3 | BsBHEER- Frg 1 2

4 | BSRHEEER- HHEEE 1 3

5 | RsBHEERR- =3 1 2

6 | BsBHEER- ZELHE 0 1

T | EsBHEEER- SRS 2 1

8 | BsBHEER- HE#E 4 5

9 | BsBHEER- pEESE 4 6

10 | BSBHEEER- HICH 2 5

11 | BsEHEEER- HELE 4 4

12 | BsRHEEEX- EE-S 6 6

13 | BsRHEEEX- /N 1 0

14 | BsRHEEEX- GHPHE 3 3

B EE B ER-

st - 1 ~RABERER TOMEE, & TSEPRE |, MARRISITRE
2 ~ IR (%) = (HIRARE - REEARKE) + HRERKE X 100
3 v AChEMMRIRAIERERRIZL
(1)0—-34%(=34.5)F&F 618
(2)35—-44% (=44.5) DS BRKESIHEHRIEINS - WHRRETREEHNE -
(3) 45% (>4 4.5) DEE : FIRZUHE - UERFHBHREEMNIGE - iSRRXEESNEEEER

i)
{LEARER - WKEREEERANEEERARE -
4~ RERGAER : BERE (1) s BIERE (+) ; BRATE 1 B+RAKR5 0% 2@+3RAK100%
5 BRI ERHRIEFEIEES - ERERKR—ERSRE - MNFESHK




